. \ i A2 TP EN PR .
3'e 7 7 AN E HE = ) P S F054
WO K S| S i | A0 | TN\ | g | RGO DR
AlO[0]| 01 [iESHK S 56|30 4£|R 13 .12.31| BE#HE |#Eex+r|S 56 1.4 |H 14 .1.1 ik
Al0O[0]| 01 [JEDHK S 57130 A |R 13 .12.31| BE#E |#sex+r|S 57 1.4 |H 14 .1.1 ks
AlO[0]| 01 [iESHK S 58130 4 |R 13 .12.31| BEHE |#mEex+vr|S 58 1.4 |H 14 .1.1 ik
Al0[0]| 0! 1[I EDHK S 60|30 A£|R 13 .12.31| BE#E |#Hex+r|S 60 .1.4|H 14 .1.1 itk
AlO[O|0 1 [ESH S 61 |30 #|R 13 .12.31| BE3E [fH#E2¥+E|S 61 1.4 |H 14 .1.1 i
Al0O[0]| 0 1[I EDHK S 6230 4£|R 13 .12.31| BE#E |#Eex+vr|S 62 1.4 |H 14 .1.1 itk
AlO[O]| 01 |[iEDHK S 6330 4 |R 13 .12.31| BEHE |#sHe¥+e|S 63 1.4 |H 14 .1.1 HE
Al0[0]| 0 1[I EDHK H 2 [30 4R 13 .12.31| FEIHE [#Eexyr|H 2 .14 |H 14 .1.1 itk
AlO[O|0 1 [ESHK H 3 |30 4£ (R 13 .12.31| BEZE |fesexvr|H 3 1.4 (H 14 .1.1 i
Al0|0]0 1 [iEa H 4 [30 4R 13 .12.31| BE3E [#gexve|H 4 .14 |H 14 .1.1 itk
AlO[O|0 1 [ESH H 5 |30 4£[R 13 .12.31| BE3E |#gexve|H 5 .14 (|H 14 .1.1 i
Al0|0]0 1 [iEa H 6 [30 4£[R 13 .12.31| BE3E [#gex+e|H 6 .1.4|H 14 .1.1 itk
AlO[O|0 1 [ESH H 7 |30 4£[R 13 .12.31| BE3E |fgexve|H 7 .14 (H 14 .1.1 i
Al0|0]0 1 [¥Ea H 8 [30 4£[R 13 .12.31| BE3E [#gex+e|H 8 .1.4|H 14 .1.1 itk
AlO[O|0 1 [ESH H 9 |30 4£[R 13 .12.31| BE3E |fegexve|H 9 .14 (H 14 .1.1 i
Al0|0]0 1 [iEa H 10 |30 45 [R 13 .12.31| BEZE |#5gox+e|H 10 .1.4 [H 14 .1.1 e
A[0]0]0i1[ESK H 1130 4£|R 13 .12.31| BEIFE [#EEox~rr|H 11 .1.4|H 14 .1.1 iy
Al0|0]0 1 [¥E5 H 12 |30 45 [R 13 .12.31| BEZE |#egoxvr|H 12 .14 [H 14 .1.1 e
A[0]0]0}1[ESK H 1330 4£|R 13 .12.31| BEZFE [#EEox~vr|H 13 1.4 |H 14 .1.1 iy
Al0|0]0 1 [¥Ea H 16 |30 4£[R 16 .12.31| BEZE |#5gex+e|H 16 .1.4 [H 17 .1.1 e
AlO[O|0 1 [ESH H 17 [30 4£[R 17 .12.31| BE#E [fmsox+v|H 17 .1.4([H 18 .1.1 ik
Al0|0]0 1 [¥E5 H 18 |30 4 [R 18 .12.31| BEFE |f#E2x+r|H 18 .1.4[H 19 .1.1 ity




WOk Az 7 v e | (S0 | I 1 L8 gy || IRIEHINO | B
Al0O[0]| 0 1[I EDHK H 19 [30 45 [R 19 .12.31| B3 [#E2x+E|H 19 .1.4|H 20 .1.1 ks
Al0|0]0 1 [¥E5 H 20 [30 4£[R 20 .12.31| BEIHE [#5Eex+r|H 20 .1.4|H 21 .1.1 ik
Al0O[0]| 0! 1[I EDHK H 2130 4£[R 21 .12.31| B3 [#Eex+r|H 21 .1.4|H 22 .1.1 ks
Al0|0]0 1 [iE5 H 22 [30 4£|R 22 .12.31| BEIHE [#rEex+b|H 22 .1.4|H 23 .1.1 ik
Al0O[0]| 01 [JEDHK H 23 [30 4 |R 23 .12.31| B3 [#Eexvr|H 23 1.4 |H 24 .1.1 ks
AlO[O]| 01 |[iEDHK H 26 [30 4£|R 26 .12.31| FEFE |#Eex+e|H 26 .1.6|H 27 .1.1 HE
Al0[0]| 0 1[I EDHK H 27 [30 4£|R 27 .12.31| BEIE [#sEex+r|H 27 .1.5|H 28 .1.1 itk
AlO[O]| 01 |[IEDH%K H 28 [30 4£|R 28 .12.31| FEFE [#sEoxvr|H 28 .1.4|H 29 .1.1 HE
Al0O[0]| 0 1[I EDHK H 29 [30 4£[R 29 .12.31| BEIE [#Eex+r|H 29 .1.4|H 30 .1.1 itk
AlO[0] 01 [iEDH% H 30 [30 4 |R 30 .12.31| FEFE [#sEex+r|H 30 .1.4|H 31 .1.1 HE
Al0[0]| 0! 1[I EDHK R 1 [30 4 |R 31 .12.31| BEZE [feE2x+vr|H 31 1.4 (R 2 .1.1 itk
AlO[O|0 1 [ESH R 2 |30 4£|R 32 .12.31| BE#FE |[fE2x+r|R 2 .1.4|R 3 .1.1 i
Al0|0]0 1 [¥Ea R 3 |30 4£|R 33 .12.31| BFEZE [f5E2%+t|R d4|R 4 1.1 itk
AlO[O|0 1 [ESH R 4 |30 4£|R 34 .12.31| BEFE |fE2x+r|R d4[R 5 .1.1 i
Al0|0]0 1 [¥Ea R 5 |30 4£|R 35 .12.31| BEZE [f5E2%+t|R d4|R 6 .1.1 itk
Al0[0]|0 2|fHiECER S 57 |30 4E|R 13 .12.31| BEEE [#sEox+v|S 57 .14 |H 14 .1.1 ik
Al0|0|0 2 |HECER S 58 (30 4=|R 13 .12.31| BEHE [fs2¥+t|S 58 1.4 |H 14 .1.1 itk
Al0]|0|0 2 |miECER S 59|30 4£|R 13 .12.31| FEZEE |#5Eoxyr|S 59 .14 |H 14 .1.1 itk
Al0| 0|0 2 AEErERR S 60 |30 4F|R 13 .12.31| BEHE |[#ege¥x+e[S 60 .1.4|H 14 .1.1 HE
Al0]|0|0 2 |FiECER S 61|30 4£|R 13 .12.31| FEZEE |#5Eoxyr|S 61 .14 |H 14 .1.1 AR
Al0| 0|0 2 [AEErERR S 62 (30 4F|R 13 .12.31| BEHE |[fege¥x+e|S 62 .1.4|H 14 .1.1 e
Al0]|0|0 2 |FiECER S 6330 4£|R 13 .12.31| FEZEE |#5Eoxyr|S 63 .14 |H 14 .1.1 ik
Al0[0]|0 2|fHECER H 1 [30 45 (R 13 .12.31| BE3E [#E2x+E|S 64 .1.4|H 14 .1.1 itk
Al0[0]|0 2|fECER H 2 |30 4£|R 13 .12.31| BEZE |#uoxve|H 2 .14 (|H 14 .1.1 it




WOk Az 7 v e | (S0 | I 1 L8 gy || IRIEHINO | B
Al0]|0|0 2 |miECER H 3 [30 45 |R 13 .12.31| B3 [#Eexyr|H 3 1.4 |H 14 .1.1 ks
Al0[0]|0 2|fHECER H 4 [30 4£|R 13 .12.31| FEIHE [#sEex+br|H 4 .14 |H 14 .1.1 ik
Al0[0]|0 2|fHECER H 5 [30 4£[R 13 .12.31| BEIE [#gexvEe|H 5 .14 |H 14 .1.1 ik
Al0[0]|0 2|fHECER H 6 [30 4£[R 13 .12.31| BEIE [#E2x+e|H 6 .14 |H 14 .1.1 ik
Al0[0]|0 2|5 CER H 7 [30 4£|R 13 .12.31| BE3E [#gexve|H 7 .1.4|H 14 .1.1 ik
Al0]|0|0 2 |miECER H 8 [30 4£[R 13 .12.31| BE#E [f#ex+r(H 8 .1.4([H 14 .1.1 i
Al0]|0|0 2 |miECER H 9 [30 4£[R 13 .12.31| BE#E [fs#ex+r(H 9 .1.4([H 14 .1.1 i
Al0]|0|0 2 |miECER H 10 30 4£[R 13 .12.31| BE#E [fs#ex+r(H 10 .1.4([H 14 .1.1 i
AlO[O|0 2 |FEECER H 11 (30 4£[R 13 .12.31| BE#E [f#ex+r(H 11 .1.4([H 14 .1.1 i
AlO[O|0 2 |[FEECER H 12 [30 4£[R 13 .12.31| BE#E [fssex+v(H 12 .14 (H 14 .1.1 i
Al0]|0|0 2 |miECER H 13 (30 4£[R 13 .12.31| BE#E [fs#ex+r(H 13 .1.4([H 14 .1.1 i
Al0[0]|0 2|fHiECER H 14 |30 4£[R 14 .12.31| FEFE |fegexvr|H 14 .14 [H 15 .1.1 ik
Al0[0]|0 2|fHECER H 15|30 45 [R 15 .12.31| BEZFE |#egex+t|H 15 .1.4 [H 16 .1.1 ik
Al0]|0|0 2 |miECER H 16 [30 4£[R 16 .12.31| BEHE [fH#exvr(H 16 .1.4[H 17 .1.1 i
Al0[0]|0 2|fHiECER H 17 |30 4£[R 17 .12.31| BEZFE |#eox+r|H 17 .14 [H 18 .1.1 ik
Al0]|0|0 2 |FiECER H 18 30 4 [R 18 .12.31| BEHE [R#exvr(H 18 .1.4[H 19 .1.1 i
Al0]|0|0 2 |miECER H 19 [30 4 [R 19 .12.31| BEHE [f#exve(H 19 .1.4[H 20 .1.1 i
Al0]|0|0 2 |miECER H 20 30 4£[R 20 .12.31| BE3HE [fR#ex+r(H 20 .1.4[H 21 .1.1 itk
Al0| 0|0 2|mECER H 21 (30 4£[R 21 .12.31| BE#E [fm#ox+v(H 21 .1.4([H 22 .1.1 AR
Al0]| 0|0 2|mECER H 22 (30 4£[R 22 .12.31| BE3#E [fmsox+r(H 22 .1.4([H 23 .1.1 AR
Al0]|0|0 2 |FiECER H 23 (30 4 [R 23 .12.31| BE3HE [fRexvr(H 23 1.4 [H 24 .1.1 itk
Al0]|0|0 2 |mECER H 24 (30 4£[R 24 .12.31| BE3#E [fssox+r(H 24 .1.4([H 25 .1.1 AR
Al0]|0|0 2 |mECER H 25 (30 4£[R 25 .12.31| BE#E [fm#ox+r(H 25 .1.4([H 26 .1.1 AR
Al0|0|0 2 |miECER H 26 [30 4£[R 26 .12.31| BFE#E [f#ex+r(H 26 .1.6 [H 27 .1.1 s




WOk Az 7 v e | (S0 | I 1 L8 gy || IRIEHINO | B
Al0[0]|0 2|fHECER H 27 [30 4£|R 27 .12.31| B |#sEex+r|H 27 .1.5|H 28 .1.1 ik
Al0[0]|0 2|fHECER H 28 [30 4£[R 28 .12.31| BEIE [#ge¥+E|H 28 .1.4|H 29 .1.1 ik
Al0[0]|0 2|fECER H 29 [30 4£[R 29 .12.31| BEIE [#E2¥+E|H 29 .1.4|H 30 .1.1 ik
Al0[0]|0 2|fECER H 30 [30 4£[R 30 .12.31| BEIE [#E2¥+E|H 30 .1.4|H 31 .1.1 ik
Al0[0]|0 2|fHECER R 1 [30 #|R 31 .12.31| BEZE [fEE2xvr|H 31 1.4 (R 2 .1.1 ik
AlO|O|0 2 |[FEECER R 2 |30 4£|R 32 .12.31| BE#FE |[fsEex+t|R 2 .1.4|R 3 .1.1 i
AlO|O|0 2 [FEECER R 3 |30 4£|R 33 .12.31| BE#FE |[fEex+t|R 3 .1.4|R 4 .1.1 i
Al0| 0|0 2|mECER R 4 |30 4£|R 34 .12.31| BE#FE |[fsg2x+t|R 4 .1.4|R 5 .1.1 i
Al0[0]|0 2|FiECER R 5 |30 4£|R 35 .12.31| BE#EE |#Eex+ve|R 5 .14(|R 6 .1.1 ik
A0 1|0 3[ARTEXiAEERH R 1|5 #|R 6 .12.31| FEZE [fsEexvr|H 31 .1.4(R 2 .1.1 ik
AlO[ 1|0 3[ARTEXEEER R 2|5 #|R 7 .12.31| FEZE [fgEexvt|R 2 .14([R 3 .11 HE
A0 1[0 3 [ATEXIAESEHK R 3|5 4|R 8 .12.31| FE#E |#sg2x+t|R 3 .14 (|R 4 .1.1 ik
A0 1[0 3 AT XIAEEHK R 4|5 4|R 9 .12.31| FE#E |#g2x+t|R 4 .14(|R 5 .1.1 ik
A0 1[0 3 [ATEXIAEEHK R 5 |5 4|R 10 .12.31| BFE#E |#sgex+t|R 5 .14 (|R 6 .1.1 ik
A0 1[04 [ARTEXIAESEHK R 3|3 4|R 6 .12.31| FE#E |#g2x+ve|R 3 .14 (|R 4 .1.1 ik
A0 1[04 [ARTEXIAEEHK R 4 |3 4F|R 7 .12.31| FE#E |#g2x+t|R 4 .14|R 5 .1.1 ik
A0 1[04 [ARTEXIAEEHK R 5|3 4|R 8 .12.31| FE#E |#sgex+t|R 5 .14(|R 6 .1.1 ik
A0 1[0 5 [ATEXIAEEHK R 5|1 4|R 6 .12.31| FE#E |#sg2x+t|R 5 .14 (|R 6 .1.1 3ss
A0 1[0 6|FIHEER S 62 (30 4£|R 13 .12.31| BEFE [fsE2*+|S 62 1.4 |H 14 .1.1 3ss
A0 1[0 6 |FIHEER S 63 (30 45|R 13 .12.31| BEFE [fsE2*+t|S 63 1.4 |H 14 .1.1 3ss
Al0| 1[0 6 |FIHEER H 1 |30 4 [R 13 .12.31| BEZFE |#5gex+e|S 64 .1.4[H 14 .1.1 3ss
A0 1|0 6B EER H 2 |30 4£[R 13 .12.31| BEZEE |fegexvr|H 2 .14 ([H 14 .1.1 s
A0 1[0 6|FIHEER H 3 |30 4£|R 13 .12.31| BEZEE |fegex+r|H 3 .14 |H 14 .1.1 s
A0 1[0 6B EER H 4 [30 4£ (R 13 .12.31| BEZE |#Eo¥xyr|H 14|H 14 1.1 e




Wk sz s 4 ol | 5] RN IR gy | B RETRO RS
AlO[1]|0 6 |FIHEERH H 5 [30 4£[R 13 .12.31| BEIE [#gexve|H 5 .14 |H 14 .1.1 ik
AlO| 1|0 6 |FIEEER H 6 |30 4£[R 13 .12.31| BEZFE |fH2xvr|H 6 .14 (|H 14 .1.1 i
AlO[1]|0 6 |FIHEEERH H 7 [30 4£|R 13 .12.31| BE3E [#gexve|H 7 .14|H 14 .1.1 ik
AlO| 1[0 6 |fBlFEER H 8 |30 4£|R 13 .12.31| BEZEE |#Eoxvr|H 8 .14 (|H 14 .1.1 i
A0 1[0 6 |fFIHEER H 9 |30 4£|R 13 .12.31| BEEE |#Eoxve|H 9 .14 (H 14 .1.1 ik
AlO| 1[0 6 |fBilFHEER H 10 30 4£[R 13 .12.31| BE#E [fs#ex+r(H 10 .1.4([H 14 .1.1 i
AlO| 1[0 6 |fFlFHEER H 11 (30 4£[R 13 .12.31| BE#E [f#ex+r(H 11 .1.4([H 14 .1.1 i
AlO| 1[0 6 |fBlFEER H 12 [30 4£[R 13 .12.31| BE#E [fssex+v(H 12 .14 (H 14 .1.1 i
AlO[1]|0 6 |FIHiEER H 13|30 4£|R 13 .12.31| BEZE |#goxve|H 13 .14 [H 14 .1.1 ik
AlO| 1[0 6 |fBlFHEER H 14 (30 4£[R 14 .12.31| BE#E [fs#ex+r(H 14 .1.4([H 15 .1.1 i
AlO| 1[0 6 |fBlFHEER H 15 (30 4£[R 15 .12.31| BE#E [fs#ex+r(H 15 .1.4([H 16 .1.1 i
AlO| 1[0 6 |fBlFHEER H 16 [30 4£[R 16 .12.31| BEHE [fH#exvr(H 16 .1.4[H 17 .1.1 i
Al0| 1|0 6 |fFIHEER H 17 |30 4£[R 17 .12.31| BEZFE |#eox+r|H 17 .14 [H 18 .1.1 ik
AlO| 1[0 6 |fBlFHEER H 18 30 4 [R 18 .12.31| BEHE [fR#exvr(H 18 .1.4[H 19 .1.1 i
AlO[1]|0 6 |fFIHiEER H 19 |30 45 [R 19 .12.31| BEZFE |fegex+e|H 19 .1.4 [H 20 .1.1 ik
AlO| 1[0 6 |fBlFHEER H 20 30 4£[R 20 .12.31| BEHE [fR#exvr(H 20 .1.4[H 21 .1.1 i
AlO| 1[0 6 |fBlFHEER H 2130 4£[R 21 .12.31| BEHE [fR#exvr(H 21 .1.4[H 22 .1.1 i
AlO| 1|0 6 |fFlHEER H 22 (30 4£[R 22 .12.31| BE3HE [fR#exvr(H 22 .1.4(H 23 .1.1 itk
AlO[1]|0 6 |fFIHEER H 23|30 45 [R 23 .12.31| BEZEE |fegoxvr|H 23 .14 [H 24 .1.1 3ss
AlO[1]|0 6 |fFIHiEER H 24|30 4£[R 24 .12.31| BEZEE |fegexve|H 24 .14 [H 25 .1.1 it
AlO[1]|0 6 |fFIHiEER H 25|30 45 [R 25 .12.31| BEZEE |fegox+e|H 25 .1.4[H 26 .1.1 it
AlO[1]|0 6 |fFIHEER H 26|30 4£[R 26 .12.31| FEZHE |fegex+e|H 26 .1.6 [H 27 .1.1 it
AlO[1]|0 6 |fFIHEER H 27|30 4£[R 27 .12.31| BEZFE |fegox+r|H 27 .1.5([H 28 .1.1 it
AlO[1]|0 6 |fFIHEER H 28 [30 4£|R 28 .12.31| FEFE [#guox+r|H 28 .1.4|H 29 .1.1 e




I ) 7 v frrcse | Gt | e | | A | AR e
Alo|1]0 6 |@HEEER H 29 |30 4£|R 29 .12.31| BEIE |#E#E2¥+ve|H 29 .1.4|H 30 .1.1 A
Alo|1]0 6@ EER H 30 30 4 [R 30 .12.31| BESHE [fR#E2x+vv(H 30 .1.4[H 31 .1.1 A
Alol 1o 6|@HmER R 1 |30 4£|R 31 .12.31| BEZE |HE2xve|H 31 .14 (|R 2 .1.1 A
Alol 1o 6|@HmER R 2 |30 4£|R 32 .12.31| BEZE |HE2¥xve|R 2 .14 (|R 3 .1.1 A
Alo|1]0 6@ EER R 3 |30 4£|R 33 .12.31| BE3E [fEE2¥+t|R d4 (R 4 1.1 iy
Alo|1]0 6@ EER R 4 |30 4£|R 34 .12.31| BEZE [#E#E2¥+E|R 4 .1.4|R 5 .1.1 A
Alol 1|0 6|@miHmER R 5 |30 4£|R 35 .12.31| BEIE |fEH2%+E|R 1.4|R 6 .1.1 A
Alol 1o 7 [HmER H 26|10 4£[R 6 .12.31| BEIE |fHE2xvr|H 26 .1.6 [H 27 .1.1 K
Alol1]o 7@ ER H 27|10 4£|R 7 .12.31| BEZFE [#E#E2x~re|H 27 .1.5|H 28 .1.1 A
Alol 1o 7 [HmER H 28|10 4£[R 8 .12.31| BEIE |f¥exvr|H 28 .1.4([H 29 .1.1 K
Alol1]o 7@ ER H 29|10 4£|R 9 .12.31| BEZFE [#E#E2x~ve|H 29 .1.4|H 30 .1.1 A
Alol 1o 7 [wEmER H 30|10 4 (R 10 .12.31| BE3FE |HE2x+ve|H 30 .1.4 [H 31 .1.1 kS
Alolilo 7w H 30 [10 4£[R 10 .12.31| B |#sg2%+r|H 30 .1.4 |H 31 .1.1 s
Alol1]o 7 meEs R 1 [10 4£|R 11 .12.31| BEZFE |#FE2¥+ve|H 31 .1.4|R 2 .1.1 A
AlO| 1[0 7|tk R 2 |10 #|R 12 .12.31| FE#E |##E2x+vr|R 2 1.4|R 3 .1.1 &
Alol1lo 7| —memEz R 3 |10 4£|R 13 .12.31| BE3E |#sg2xvtr|R 3 .14 |R 4 .1.1 iy
Alol1]o 7| mEs R 4 |10 4£|R 14 .12.31| BE3E |f#E2¥+|R 4 .1.4|R 5 .1.1 A
A[O]1]0: 7| —MiEEER R 5 |10 4£|R 15 .12.31| BE#HE |fege*x+t|R 5 .14([R 6 .1.1 &
Alol1lo 8| —mmEz R 1|5 4R 6 .12.31| BEZE |#gexve|H 31 .14 (|R 2 .1.1 iES
Alol1lo 8| —memEz R 2|5 4|R 7 .12.31| BEIE |fH2¥~+r|R 2 .1.4|R 3 .1.1 e
A[0]1]0:8|— xR R 3|5 4|R 8 .12.31| FE#HE |fege*+r|R 3 .14([R 4 .1.1 &
Alol1lo 8| —memEz R 4 |5 4R 9 .12.31| BEIFE |fH2¥+r|R 4 .1.4|R 5 .1.1 e
Alol1]0i8|—fiximEis R 5 |5 4|R 10 .12.31| BEIE |[fH2¥~v|R 5 .1.4|R 6 .1.1 e
Alol1lo ol —memEz R 3|3 4R 6 .12.31| B |fHg2xvr|R 3 .14 |R 4 .1.1 i




AlO[1[0 9| —fEEER R 4 |3 4|R 7 .12.31| BFE#E |[fsg2x+vc|R 4 .1.4|R 5 .1.1 i
AlO[1[0 9| —fEEER R 5|3 4|R 8 .12.31| BE#E |fgex+v|R 5 .1.4|R 6 .1.1 i
AlO[ 1|1 O|—fBEER R 5|1 4|R 6 .12.31| BFE#E |[fsg2x+vc|R 5 .1.4|R 6 .1.1 g
A0 1|1 5|@EnsEi R 1|5 4|R 6 .12.31| BFE#E |[fgexv|H 31 .1.4|R 2 .1.1 i
A|lO| 1|1 5[@EnsEs R 2|5 #|R 7 .12.31| FEZE [f8Eexvr|R 2 14(R 3 .11 K
A0 1|1 5|@mnERR R 3|5 4|R 8 .12.31| FE#E |#Exve|R 3 .14(|R 4 .1.1 ik
AlO[ 1|1 5@z R 4|5 #|R 9 .12.31| FEZE [fgEexvt|R 4 .14([R 5 .1.1 HE
AlO| 1|15 [i@Enssis R 5|5 4|R 10.12.31| FEZE [fgEex+t|R 5 .1.4[R 6 .11 HE
AlO| 1|16 [@esss R 3|3 #|R 6 .12.31| FEFE [fgEexvt|R 3 .14(R 4 .1.1 HE
AlO| 1|1 6|m@msi R 4|3 #£|R 7 .12.31| FE#E |#Exve|R 4 .14(|R 5 .1.1 ik
AlO| 1|16 [@essii R 5|3 4|R 8 .12.31| FEFE |[fgEex+t|R 5 .1.4[R 6 .11 HE
AlO| 1|1 7[R R 5|1 4|R 6 .12.31| B3I |[fg2x+e|R 5 .1.4|R 6 .1.1 i
Al0|2]0 2 |FHHEBDLRE R 3|3 #|R 6 .12.31| BEZE |[AK1x+t|R 3 .14 (R 4 .11 A
Al0[2]|0 2SR R 4|3 HF|R 7 .12.31| FEFE |[Aix+t|R 4 .14[R 5 .1.1 ik
Al0|2]0 2 |FHHEBDLRE R 5|3 4|R 8 .12.31| BEE |AB1xv£|R 5 .14(|R 6 .1.1 K
AlO0[2]|0 4|FFBSIHKEERE R 5|1 F[R 6 .12.31| BEFE |[fFE2x+r|R 5 .14 ([R 6 .11 K
Al0]|2]0 6|XETFANVEIHE | BEER AT FNS BT
AlO| 2|1 2 (A BISHRE AR R 4|3 4E|R 7 .12.31| BE#E |AB1x+vc|R 4 .1.4|R 5 .1.1 e
AlO| 2|1 2 (A BISHRE A R 5|3 4|R 8 .12.31| FE#E |ABix+vc|R 5 .1.4|R 6 .1.1 AR
AlO|2]| 15| CEEE -BERE R 1|5 4R 6 .12.31| FE3E |#¥2x+vr|H 31 .1.4|R 2 .1.1 HE
AlO| 2] 15| CEEE -BERE R 2|5 4R 7 .12.31| FEZE |#¥2%+r|R 2 .14|R 3 .1.1 HE
AlO| 2|1 5| CEEE -BERE R 3|5 4R 8 .12.31| FEFE [|#¥2%+r|R 3 .14|R 4 .1.1 HE
Al0|2]|1 5| CEREE -BERE R 4|5 4|R 9 .12.31| FEFE [|#¥2x+r|R 4 .14|R 5 .1.1 HE
AlO|2|1 5| CEREE-BERE R 5 |5 4|R 10.12.31| FE#E |#E2x+r|R 5 .1.4|R 6 .1.1 aiS




SR A v e | A | TN\ | g | M RGO BES
AlO|3[07 1 |Fak- & BHH R 3|3 #|R 6 .12.31| FEZE [fgEexvt|R 3 .14([R 4 .1.1 HE
Al0|3]07 1 |HE- - BB R R 4|3 #|R 7 .12.31| FEZE |f8Eex+vt|R 4 .14([R 5 .1.1 K
AlO|3[07 1 |- HEEBHH R 5|3 #|R 8 .12.31| FEZE |[fgE2x+t|R 5 .1.4[R 6 .11 K
Al0]|3]0] 2 |FaE - HEEBHH R 5|1 #|R 6 .12.31| FE#E [fgE2x+t|R 5 .1.4[R 6 .11 HE
Al0|4|0 2|&EBERR R 5|1 #|R 6 .12.31| FE#E |KE1xv|R 5 .1.4|R 6 .1.1 i
Al 0| 5|0 3 |fHRF IR bR R 5|1 4|R 6 .12.31| BFE#E |[fEg2xvc|R 5 .1.4|R 6 .1.1 i
Al1[2]00 1 |[SCEZFRM4HE R 3|3 4[R 6 .12.31| FEZE |[ti7+rs|R 3 1.4 (R 4 .1.1 |mEsawis
Al1[2]00 1 |[CEZFRM4HE R 4|3 F|R 7 .12.31| FEZE |[tivers|R 4 1.4(R 5 .1.1 |msawis
Al 1|20 1 |3cE=R4 R 5|3 4|R 8 .12.31| FEZE |[#tivers|R 5 .1.4(R 6 .1.1 |mEsawis
Al2(0]|0 2| ERER S 57 30 4F|R 13 .12.31| BE3E [AB1xxt|S 57 .1.4|H 14 .1.1 HE
Al2(0]|0: 2| ERER S 58 |30 £ |R 13 .12.31| BE3E [AB1xxt|S 58 .1.4|H 14 .1.1 HE
Al2(0]|0 2| ERER S 59 |30 4F|R 13 .12.31| BE3E [AB1¥xt|S 59 .1.4|H 14 .1.1 HE
Al2(0]|0 2| ERER S 60 |30 4F|R 13 .12.31| BE3E [AB1xxt|S 60 .1.4|H 14 .1.1 HE
Al2(0]|0: 2 |EfRERE S 61 (30 4F|R 13 .12.31| FEFE |AB1x+t|S 61 .1.4|H 14 .1.1 ik
Al2(0]|0 2| EfRERE S 62 (30 4 |R 13 .12.31| FEFE |AB1F+r|S 62 .1.4|H 14 .1.1 ik
Al2(0]|0 2| ERER S 6330 4F|R 13 .12.31| BE3E [AB1¥xt|S 63 .1.4|H 14 .1.1 HE
Al2]|10]0 2| pERER H 1 |30 4 |R 13.12.31| FEZE |AB1x+e|S 64 .14 (|H 14 .1.1 ik
Al2(10|0: 2| ERERE H 2 |30 4£|R 13 .12.31| BFEZE |ABixve|H 2 .14 (|H 14 .1.1 itk
Al2(10|0: 2| ERERE H 3 |30 4£|R 13 .12.31| BFEZEE |ABixve|H 3 .14 (|H 14 .1.1 itk
Al2(10|0: 2| ERERE H 4 |30 4£[R 13 .12.31| BFEZE |ABixve|H 4 .14 (|H 14 .1.1 itk
Al2(10|0: 2| ERERE H 5 [30 4£[R 13 .12.31| BE#E [ABix+r|(H 5 .1.4([H 14 .1.1 AR
Al2(0]|0 2| ERER H 6 [30 4 |R 13 .12.31| FEFE |[ABixve|H 6 .1.4|H 14 .1.1 it
Al2]10]0 2| EIETEHE H 7 [30 4 |R 13 .12.31| FEFE [ABixve|H 7 .14 |H 14 .1.1 e
Al2]10]0 2| EREE H 8 [30 4 |R 13 .12.31| FEFE |[ABixve|H 8 .14 |H 14 .1.1 it




Wk sz s 4 ol | 5] RN IR gy | B RETRO RS
Al2(0]0 2| EfRERE H 9 |30 4£[R 13 .12.31| BEZFE |AB1xvye|H 9 .14 ([H 14 .1.1 ik
Al2(0]|0: 2| EfRERE H 10 |30 4 (R 13 .12.31| BEZFE |AB1xve|H 10 .1.4[H 14 .1.1 ik
Al2(0]0: 2| rEfRERE H 11|30 4 (R 13 .12.31| BEZFE |AB1xve|H 11 .14 [H 14 .1.1 ik
Al2(0]0 2| EfRERE H 12 |30 4 (R 13 .12.31| BEZFE |AB1xve|H 12 .14 [H 14 .1.1 ik
Al2(0]0 2| rEfRERE H 13|30 4 (R 13 .12.31| BEZFE |AB1xve|H 13 1.4 [H 14 .1.1 ik
Al2]10]0 2 |rEIEEHE H 14 [30 4£|R 14 .12.31| FEFE [ABix+e|H 14 .14 |H 15 .1.1 ik
Al2]|10]0 2| rERERE H 15|30 4 [R 15 .12.31| BFEZE |AB1xve|H 15 .14 |H 16 .1.1 ik
Al2]|10]0 2| rERERE H 16 |30 4 [R 16 .12.31| FEZE |AB1xve|H 16 .14 [H 17 .1.1 ik
Al2]10]0 2 |EIEERE H 17 |30 4 [R 17 .12.31| BFEZE |AB1xve|H 17 .14 |H 18 .1.1 ik
Al2]|10]0 2| rERERE H 18 |30 4£|R 18 .12.31| FEZE |AB1x+e|H 18 .1.4|H 19 .1.1 ik
Al2]|10]0 2| rERERE H 19 |30 4£[R 19 .12.31| BFEZE |AB1xve|H 19 .1.4 [H 20 .1.1 ik
Al2]10]0 2| pERER H 20|30 4£|R 20 .12.31| FEZE |AB1xve|H 20 .14 [H 21 .1.1 ik
Al2]10]0 2| EIETEE H 21|30 4£|R 21 .12.31| FEZE |ABixve|H 21 .14 [H 22 .1.1 ik
Al2]10]0 2| EIETEE H 22 (30 4£|R 22 .12.31| FEFE [ABixve|H 22 .1.4|H 23 .1.1 ik
Al2]|10]|0 2| pERER H 23|30 4£|R 23 .12.31| FEZE |AB1xve|H 23 .14 ([H 24 .1.1 ik
Al2]10]0 2| EIETEE H 24 (30 4£|R 24 .12.31| FEFE |[ABixve|H 24 .14 |H 25 .1.1 ik
Al2]|10]0 2| pERER H 25|30 4£[R 25 .12.31| FEZE |ABixve|H 25 .1.4|H 26 .1.1 ik
Al2]10]0 2| EIRTEHE H 26 [30 4 |R 26 .12.31| FEFE [ABixve|H 26 .1.6 |H 27 .1.1 e
Al2]10]0 2| EIRTEHE H 27 [30 4 |R 27 .12.31| FEFE |[ABixve|H 27 .1.5|H 28 .1.1 e
Al2]10]0 2| EIRTEHE H 28 30 4£|R 28 .12.31| FEFE [ABixve|H 28 .1.4|H 29 .1.1 3ss
Al2]10]0 2| EIRTEHE H 29 [30 4 |R 29 .12.31| FEFE [ABixve|H 29 .1.4|H 30 .1.1 e
Al2]10]0 2| EIRTEHE H 30 [30 4 |R 30 .12.31| FEFE [ABixve|H 30 .1.4|H 31 .1.1 e
Al2]10]0 2| EIETEHE R 30 4E [R 31 .12.31| FEFE [Aix+e|H 31 .14|R 2 .1.1 e
Al2]10]0 2| EREE R 2 |30 4£|R 32 .12.31| FE# |ABix+ve|R 2 .14 (R 1.1 s




Wk sz s 4 ol | 5] RN IR gy | B RETRO RS
Al2]|10]0 2| rERERE R 3 |30 4£|R 33 .12.31| BEIHE |[AB1¥+t|R 3 .1.4|R 4 .1.1 i
Al2(0|0: 2| EFEER R 4 |30 4£|R 34 .12.31| BEIFE |AB1¥+|R 4 .1.4|R 5 .1.1 i
Al2]|10]0 2| rERERE R 5 |30 4£|R 35.12.31| B |AB1xv|R 5 .1.4|R 6 .1.1 g
Al2(0]|0 4 NFBIHRER R 5|1 4R 6 .12.31| FEE |BKEE1¥¥E|R 5 .14(|R 6 .1.1 ik
Al3[0|0 2 |BEEE2BfRMR R 5|1 4|R 6 .12.31| BFE#E |ABixvc|R 5 .1.4|R 6 .1.1 i
Al3]|2|0 3|FEEERHK R 3|3 4F|R 6 .12.31| FEFE [|#E3x+r|R 3 .14|R 4 .1.1 HE
Al3[2]|0 3|FEBEHRE R 4|3 4F|R 7 .12.31| FEZE [f5E3x+c|R 4 .14(R 2 .1.1 HE
Al3]|2|0 3|FEEERHK R 5 |3 4|R 8 .12.31| FEFE [|#E3x+r|R 5 .1.4|R 6 .11 HE
Alalo]o 3|mneprgmss e J0h | wE | ee=x it
Al5|2|0 6 |[fIERRFEMSEEHE H 26 [10 4£|R 6 .12.31| BE3HE [#HEE1xvre|H 26 .1.6 |H 27 .1.1 e
Al5|2|0] 6 |[fERRFEMSEEHE H 27 [10 4£|R 7 .12.31| BE3E [#HEE1xve|H 27 .1.5|H 28 .1.1 e
Al5]|2|0;6 |[fIERERFHEMSEEHE H 28 [10 4£|R 8 .12.31| FE3HE [#HEE1¥vre|H 28 .1.4|H 29 .1.1 e
Al5]|2|0;6 [fIERERFHEMSEEHE H 29 [10 4£[R 9 .12.31| FE3HE [#HE1¥vre|H 29 .1.4|H 30 .1.1 e
Al5]|2|0 6 |[fERRFEMSEEHE H 30 [10 4 [R 10 .12.31| FE3HE [#HE1¥+re|H 30 .1.4|H 31 .1.1 e
Al5|2|0] 6 |[fIERERFHEMSEEHE R 1 [10 F|R 11 .12.31| BEZFE [fHFE1%x+r|H 31 .14 [R 2 .1.1 e
Al5]|2|0; 6 [fIERERFHEMSEEHE R 2 |10 4 |R 12 .12.31| FE#E |#H#E1%+E|R 14|R 3 .1.1 e
Al5]|2|0;6 [fIERERFHEMSEEHE R 3 |10 £ |R 13 .12.31| FEE |#E1+E|R 14|R 4 .1.1 e
Al5]2]0: 6 [f&BIIRFIHM ST BIE R 4 |10 4£|R 14 .12.31| BEZE |#E1x+e|R 4 .14 (|R 5 .1.1 e
Al5]2]0 6 |H&BIRFHMS T BIE R 5 |10 4£|R 15 .12.31| BFEZE [5E1%+t|R 14|R 6 .1.1 e
Al5|2|0; 7 (MERMRFERSEZTRME H 26|10 4£[R 6 .12.31| BEZE |HE1xve|H 26 .1.6 [H 27 .1.1 e
Al5|2|0 7 (MERMBRFERSETRMNE H 27|10 4R 7 .12.31| BEZE |#E1xve|H 27 .1.5[H 28 .1.1 e
Al5(2]0 7 |HERMRFHBSERTHE H 28|10 4£[R 8 .12.31| BEFE |HE1xve|H 28 .1.4[H 29 .1.1 e
Al5(2]0 7 |HERMRFHBSERTHE H 29|10 4R 9 .12.31| BEZE |HE1xve|H 29 .14 [H 30 .1.1 itk
Al5(2]0 7 HEERMRFHBSERHE H 30 [10 4 [R 10 .12.31| BE3E [#HE1¥+e|H 30 .1.4|H 31 .1.1 HE




R O > e | S0 | LR VLR g | I IRAEHIT | SR
Al5|2|0; 7 (HMERMBRFERSETRMIE R 1 |10 F|R 11 .12.31| FEZE |##1x+r|H 31 .1.4|R 2 .11 HE
Al5|2|0 7 (HERMBRFHERSETRMIE R 2 |10 #£|R 12 .12.31| BFEZE [f5E1%+t|R d14[R 3 .1.1 K
Al5(2]0 7 |HERMRFHBSERHE R 3 |10 4£|R 13 .12.31| FE#E |#E1x+ve(R d1.4|R 4 .1.1 ik
Al5(2]0 7 HERMRFHBSERHE R 4 |10 4£|R 14 .12.31| BFE#E |#uix+e|R 4 .14 |R 5 .1.1 S
Al5|2|0: 7 (AR REERSERME R 5 |10 #£|R 15 .12.31| BFEZE [f5E1%+t|R 14|R 6 .1.1 iio
Al5(2]| 1 3|AIRIRSEHHE H 26 (10 4£|R 6 .12.31| FEFE [#HEixve|H 26 .1.6|H 27 .1.1 HE
Al5| 2|1 3|BiFRESEEH H 27|10 4£|R 7 .12.31| BEZE |#g1xve|H 27 .1.5([H 28 .1.1 ik
Al5| 2|1 3|BIFRESEEH H 28|10 4£|R 8 .12.31| BEZE |#Ei1xve|H 28 .1.4([H 29 .1.1 ik
Al5| 2|13 |FiBRaSEEE H 29|10 4£[R 9 .12.31| FEFE |#Ei%ve|H 29 .1.4|H 30 .1.1 HE
Al5| 2|1 3|BIFRESEEH H 30|10 4£ (R 10 .12.31| BEZE |#E1x+e|H 30 .1.4[H 31 .1.1 A
Al5(2|1 3|RIRIRAEEHE R 1 |10 4 |R 11 .12.31| BFEZE [f8E1+t|H 31 .1.4([R 2 .1.1 HE
Al5| 2|11 3|FiB RS EEE R 2 |10 #|R 12 .12.31| FE#E |##Ei1x+e|R 2 1.4|R 3 .1.1 HE
Al5|2]1: 3|FiF RS R 3 |10 4£|R 13 .12.31| BEFE |fE1x+t|R d4[(R 4 .11 i
Al5| 2|13 |FiBRSEEE R 4 |10 #|R 14 .12.31| FE#E |##E1%+ve|R 14[R 5 .1.1 HE
Al5|2] 1 3|FiFRRSEE R 5 |10 4£|R 15 .12.31| BEFE |fE1x+t|R 14[R 6 .1.1 i
Al5[ 21 4|FiR RS EIS S H 26 (10 4£|R 6 .12.31| FEIFE [#Ei1x+e|H 26 .1.6 |H 27 .1.1 HE
Al5|2] 1 4|FTFRESEIR {6 H 27 [10 4£[R 7 .12.31| BEHE [f#i1xve(H 27 .1.5[H 28 .1.1 i
Al5[ 21 4|FiR RS EI 8 H 28 |10 4£|R 8 .12.31| FEIEE [#E1x+E|H 28 .1.4|H 29 .1.1 HE
Al5[ 21 4|FiR RS EIS 8 H 29|10 4£[R 9 .12.31| FE#E |##Eixve|H 29 1.4 |H 30 .1.1 it
Al5[ 21 4|5 RS EI 8 H 30|10 4£[R 10 .12.31| FE#E |##E1x+vr|H 30 .1.4|H 31 .1.1 it
Al5[ 2|1 4|FiR RS EI 8 R 1 |10 4 |R 11 .12.31| BFE#E |##Eis+vr|H 31 .1.4|R 2 .1.1 it
Al5|2] 1 4|FTRRESEIR R 2 |10 4£|R 12 .12.31| B3 |[fEi1x+e|R 2 .1.4|R 3 .1.1 ik
Al5|2| 1 4|FTRRESER{EE R 3 |10 4£|R 13 .12.31| BEFE |[fE1x+t|R d4[R 4 .11 itk
Al5| 2|1 4|BTF BT fE R 4 |10 4£|R 14 .12.31| BEHE |#HEix+e|(R d14|R 5 .1.1 s




R O > e | S0 | LR VLR g | I IRAEHIT | SR
Al5( 2|1 4 |ATRHRSEIME R 5 |10 4£|R 15 .12.31| BFE#E |#umix+t|R 5 .14 |R 6 .1.1 ik
Al5|2|1 5| ERERSEEIE H 26|10 4£[R 6 .12.31| BFEZE |#E1xve|H 26 .1.6 [H 27 .1.1 ik
Al5|2|1 5| EFRERSEEIE H 27|10 4£|R 7 .12.31| BEEE |#E1x+e|H 27 .1.5([H 28 .1.1 ik
Al5|2|1 5| ERERSEEIE H 28|10 4£[(R 8 .12.31| BEFE |#Ei1x+e|H 28 .1.4([H 29 .1.1 ik
Al5(2]|15|H LifS EE H 29 [10 4£|R 9 .12.31| FEHE [#HEix+ve|H 29 .1.4|H 30 .1.1 K
Al5|2|1 5| LiERESEEHE H 30|10 4£[R 10 .12.31| FEFE |#Ei1%ve|H 30 .1.4|H 31 .1.1 HE
Al5|2|1:5|H LIRS EEEE R 1 |10 4 |R 11 .12.31| BFEZE |81+t H 31 .1.4([R 2 .1.1 HE
Al5|2|1:5 | LIRS EEHEE R 2 |10 4£|R 12 .12.31| FEZE [f5E1%+L|R d14[R 3 1.1 HE
Al5|2|15|H LIRS EEEE R 3 |10 #|R 13 .12.31| FEHE |#H#H1%+vE|R 14|R 4 .1.1 HE
Al5(2]|16|H EiRARES TR H 26 (10 4£|R 6 .12.31| FEFE |#HEixve|H 26 .1.6|H 27 .1.1 HE
Al5(2]|16|H LA RES TR H 27 [10 4£|R 7 .12.31| FEFE |#HEixve|H 27 .1.5|H 28 .1.1 HE
Al5(2]|16|H LA RESER M H 28|10 4£|R 8 .12.31| FEIHE [#E1x+r|H 28 .1.4|H 29 .1.1 HE
Al5(2]| 1 6|H LA ERMHE H 29 [10 4£|R 9 .12.31| FEFE [#Eixve|H 29 .1.4|H 30 .1.1 ik
Al5(2]|16|H LA RESER M H 30|10 4£|R 10 .12.31| FEFE [#Eis+ve|H 30 .1.4|H 31 .1.1 A
Al5(2]|16|H LA ERMHE R 1 |10 4 |R 11 .12.31| BFEZE |#sgix+t|H 31 .14 (|R 2 .1.1 ik
Al5(2]|16|H LA ERME R 2 |10 4£|R 12 .12.31| BEZE |#sgix+c|R 2 .14 (|R 3 .1.1 ik
Al5(2]| 1 6|H LA RESERMHE R 3 |10 4 |R 13 .12.31| FE#E |#H#E1%+ve|R 14|R 4 .1.1 HE
Al5|2| 16| FiERaSERME R 4 |10 4 |R 14 .12.31| FE#E |##E1%+ve|R 14|R 4 .1.1 HE
Al5|2|1) 6| LiiEREERMERE R 5 |10 4 |R 15 .12.31| FE#E |##Ei1x+r|R 3 .1.4|R 4 .1.1 HE
Als|2|1 7 |RIAR H 26|10 4£[R 6 .12.31| FE#E |#Eixve|H 26 .1.6 |H 27 .1.1 HE
Als|2|1 7 |RIAR H 27|10 (R 7 .12.31| FE#E |##Eixve|H 27 1.5|H 28 .1.1 HE
Als|2| 1 7 |EIA# H 28|10 4£[R 8 .12.31| FE#E |##Ei1x+vr|H 28 .1.4|H 29 .1.1 HE
Als|2|1 7 |EIAR H 29|10 4£[R 9 .12.31| FE3E |#Ei%ve|H 29 .1.4|H 30 .1.1 HE
Al5| 2|17 |EIARE H 30|10 4£[R 10 .12.31| FEZE |##Ei1x+vr|H 30 .1.4|H 31 .1.1 HE




I ) 7 A v tencer | e | R (e | ®em |l | AR e
Alsl2l1 7 |aIA R 1 |10 F|R 11 .12.31| FEZE |##1x+r|H 31 .1.4|R 2 .11 iin
Alslel 1 7lEiIAkE R 2 |10 #|R 12 .12.31| FE#E |##H1x+c|R 2 .1.4|R 3 .1.1 IS
Alslel 1 7lEiAkE R 3 |10 #|R 13 .12.31| FE#E |##H1x+e|R 3 .1.4|R 4 .1.1 IS
Alslel 1 7lEAkE R 4 |10 #|R 14 .12.31| FE#E |##H1x+c|R 4 .14|R 5 .1.1 IS
Alslel 1 7lEAkE R 5 |10 #|R 15 .12.31| FE#E |##H1x+c|R 5 .1.4|R 6 .1.1 IS
Al6| 1|27 0|z mbarssE m s e s R 1|5 F|R 6 .12.31| FEFE |#H¥1x+ve|H 31 .1.4|R 2 .11 FiiN
Al6| 1|27 0|z mbrssEm s e R 2|5 F|R 7 .12.31| FEFE |#HH¥1x+c|R 2 .1.4|R 3 .11 FiiN
Alel 1|2 oz s A m R 3|5 F|R 8 .12.31| FEHE |##1x+c|R 3 .1.4|R 4 .11 FiiN
Al6| 1|27 0|z mbrssE m s e s R 4|5 F|R 9 .12.31| FEFE |#H#¥1x+c|R 4 .1.4|R 5 .11 FiiN
Al6| 1|20 0|zmY)% 55 E S P R 5|5 4|R 10 .12.31| BEZE [fEH1x+r|R 5 .1.4|R 6 .1.1 K
Alel 1] 2] 1 |2cmuss it s mis R 1|5 4|R 6 .12.31| BEZE [fEHi1x+e|H 31 .1.4|R 2 .1.1 K
Alel 1] 201 | Zsmus st e i R 2|5 4R 7 .12.31| BEHE |HHixve|R 2 .14 (|R 3 .1.1 A
Alel 1] 2] 1 | ZmiEastx Epe s R 3|5 4|R 8 .12.31| BEIFE |[fHH1x+r|R 3 .1.4|R 4 .1.1 fiS
Alel 1] 201 |Zsmus st e R 4 |5 4R 9 .12.31| BEIFE |[fHH1¥+r|R 4 .1.4|R 5 .1.1 fiN
Alel 1|2 1 | ZmiEastx S e mis R 5 |5 4 |R 10 .12.31| EE3E [fEE1¥+yr|R 5 .14|R 6 .1.1 A
Al 6| 3]0 3|z R RS R 1|5 F|R 6 .12.31| FEFE |#¥1x+c|H 31 .1.4|R 2 .11 K
Al 6| 3]0 3|z R RS R 2|5 F|R 7 .12.31| FEFE |[#¥1x+c|R 2 .1.4|R 3 .11 K
Al 6130 3 |EE e AR R 3|5 4|R 8 .12.31| BEHE |HHixvr|R 3 .14 (|R 4 .1.1 iaS
Al6]3]0 3 [JAtE 2B PRI MR R 4|5 4|R 9 .12.31| FEFE |##1%+e|R 4 .14|R 5 .1.1 HE
Al6]3]0 3 [JRtE DB PREAMRER R 5|5 4|R 10 .12.31| FEFE |#EE1%+t|R 5 .14([R 6 .1.1 e
Al6l 5ol 1 |Fm. = dEsEiss i BRs R 3|3 4|R 6 .12.31| BEHFE |ABixve|R 3 .14 (|R 4 .1.1 e
Al6l 5001 |Fam. =i i BRs R 4|3 4|R 7 .12.31| BEFE [ABxixve|R 4 .1.4|R 5 .1.1 1S
Al6l 5ol 1 |Fam. =i BRs R 5|3 4|R 8 .12.31| BEZE [ABix+e|R 5 .1.4|R 6 .1.1 1S
slolo]o 1|z mbedein st ms R 5|1 4R 6 .12.31| BEFE |HEHi1xvr|R 5 .14 |R 6 .1.1 e




WEK AT s 4 n e | (S0 | I 1 L8 gy || IRIEHINO | B
slofoloi2|BHzE R 5|1 4|R 6 .12.31| BE#E |#@m2x+vc|R 5 .1.4|R 6 .1.1 i
S[0]0]0: 3|ISRIRIETE R 5|1 #F|R 6 .12.31| BEZE | 8= |[R 5 .14[R 6 .L.1 S
S[O]| 1|01 |zZmbaanusEatRis (EE)H &) R 3|3 #[R 6 .12.31| FEIE |[A1xve|R 3 .1.4[R 4 .1.1 K
S{O|1]0: 1|23 FaEHGHEIR (THE)H #) R 4|3 &#|R 7 .12.31| BEZE |[A1x+ve|R 4 .1.4([R 5 .1.1 HE
S[O] 1|01 |zZmbaanusEatRis (EE)H &) R 5|3 #[R 8 .12.31| BEFE |[A1x+vt|R 5 .1.4[R 6 .11 K
S10|1]0 2{&ESEH&K R 5|1 4|R 6 .12.31| FE#E |#@m2xve|R 5 .14 (|R 6 .1.1 i
Slol 2|0 1|35 RI1REE R 5|1 #|R 6 .12.31| FE#E |#H1xvc|R 5 .1.4|R 6 .1.1 HE
5(0[2]0 2|2 mHEEN N i R 5|1 F|R 6 .12.31| FEFE [f5E1x+c|R 5 .1.4([R 6 .1.1 e
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Al2lolo 1| A ERmEsmEmER H 25 (30 4 |R 25 .12.31| BE#E |ApEx+vc|H 25 1.4 |H 26 .1.1 s
Al2lolo 1| ERmdEmEmER H 26 |30 4£|R 26 .12.31| FE#E |AmExve|H 26 .1.6 [H 27 .1.1 s
Al2lolo 1| ERmEsmEmER H 27 [30 4 |R 27 .12.31| BFE#E |AmExve|H 27 1.5 |H 28 .1.1 s
Al2]0]|0 1 [AZSRENEMIL H 28 |30 4 |R 28 .12.31| BE#E |ApEx+vc|H 28 1.4 |H 29 .1.1 HE
Al2]0]0 1| AgEEhihME H 29 [30 42|R 29 .12.31| BEHE |apslEsve|H 29 .14 [H 30 .11 | #K
Af2[0[0 1 [AdSEhmEnEg H 30 (30 4R 30 .12.31| Bg#E |mpiExve|H 30 .1.4|H 31 .1.1 T
A[2]0]0 1 [ASFRENEMIL R 1 [30 4£|R 31 .12.31| FEFE [AipEx+re|H 31 .14 |R 2 .1.1 iy
Al2]0]0 1| AgEEhihmE R 2 [30 4£|R 32.12.31| BEFE |@rE*~c|R 2 .14|R 3 .1.1 |
Af2[0[0 1 [AdSEhmEmnEg R 3 |30 4 |R 33 .12.31| FEHE |axEx*+t|R 3 .1.4|R 4 .11 T
Al2lolo 1| \ERmEhmmER R 4 |30 #£|R 34 .12.31| FE#E |amEx+t|R 4 .1.4|R 5 .1.1 K
Al2]0]0 1| A5 EEhihMER R 5 |30 4 |R 35.12.31| BEFE |mlgs+e|R 5 1.4|R 6 .11 | &
Al2l9lo 1B ~REEERES R 5|1 4|R 6 .12.31| BFE#E | 2%x |R 5 .1.4|R 6 .1.1 i
Al 21904 [Feaast Bz siiE R 3|3 4|R 6 .12.31| BE3E 6¥¥” IR 3 .14([R 4 .1.1 e
Al2(9[0 4 |Mesdni R RCHE R 4|3 #|R 7 .12.31| FE#E | exv |R 4 .14|R 5 .1.1 &
Al 21907 4 [Fezags matssnsiiE R 5|3 4|R 8 .12.31| FEHE | 6%y |[R 5 .14|R 6 .1.1 e
Al2[9]0 5|BGH~RILEIRE FH—H#RK R 4|3 #|R 7 .12.31| FE#E | 6%v |R 4 .14|R 5 .1.1 K




Al219]0]5 [HER~RBLEREFH—ER R 5|3 4|R 8 .12.31| FE# | 6xvt |[R 5 .14|R 6 .1.1 GIS
A3 1[0 2Bl e B R 5|1 #|R 6 .12.31| FE# | 2%+ |[R 5 .1.4|R 6 .1.1 HE
Al3]2]0 2EREI—R A | MECRBECRAE] BEFE |AIRESye i
Al3]2]0 3|FEERK R 3|3 4£|R 6 .12.31| FEZE |[ApExr|R 3 14|R 4 .1.1 GIS
Al3[2]|0 3|REBEBRE R 4|3 4|R 7 .12.31| FE#E |amEx+e|R 4 .14(|R 2 .1.1 S
Al3]2]0 3|FEEGRK R 5|3 H[R 8 .12.31| BEIFE [AEX+rL|R 5 .14|R 6 .1.1 itk
Al4[0] 1 0 FSFOERAMERRR R E 5 R 5|1 #|R 6 .12.31| FE#E | 2%+ |R 5 .1.4|R 6 .11 HE
A[5]0]0: 1 |#RAETEHEHERIREE S 6030 4F|R 13 .12.31| FE#E | 1%+t [S 60 .1.4|H 14 .1.1 e
A[5[0|0: 1 |MAEREREHRE S 6130 4£|R 13 .12.31| BE#E | 1%+t [S 61 .1.4|H 14 .1.1 ik
A[5]0]0: 1 |#RAETEEHERIRRE S 62130 4R 13.12.31| FE#E | 1%+ |S 62 .1.4|H 14 .1.1 e
A|5[0|0; 1 |MAEREBEHRE H 1 [30 4 |R 13.12.31| BFEHE | 1%+vr |S 64 .1.4|H 14 .1.1 ik
A[5]0|0: 1 |HRAETEHEHEREIRE H 2 [30 4 |R 13.12.31| FE#E | 1%% |H 2 .14|H 14 .1.1 e
A[5]0|0: 1 [#RAEFEERESRRE H 3 |30 4 (R 13 .12.31| BE# | 1%+t |H 3 .1.4|H 14 .1.1 HE
A[5]0|0; 1 |RAETEHEHERIRRE H 4 [30 4F|R 13.12.31| FE#E | 1%% |H 4 .14|H 14 .11 e
A[5]0|0: 1 |#RAEFEERESRRE H 5 [30 4£|R 13.12.31| BEZHE | 1%+ |H 5 .1.4|H 14 .1.1 ik
A[5]0|0: 1 |HRAETEHEHERIRRE H 6 [30 4F|R 13.12.31| FE#E | 1%% |H 6 .1.4|H 14 .1.1 e
A5 0|0 1 |#RAEFEHERESRRE H 7 [30 4£|R 13.12.31| BEZHE | 1%+ |H 7 .14|H 14 .1.1 ik
A|5[0|0: 1 |MERHEPEHRE H 8 |30 4£|R 13.12.31| FgZ | 1%+ |H 8 .14|H 14 .1.1 e
A[5]0]0: 1 |#RAEFEERERRE H 9 |30 4R 13 .12.31| BFE#E | 1%+vt |[H 9 .1.4|H 14 .1.1 HE
A|5[0| 0 1 |MERHEPEMRE H 10|30 4£|R 13 .12.31| FgZ | 1%+ |H 10 .14 |H 14 .1.1 itk
A[5]0]0: 1 |#RAEFEHERERRE H 11|30 4£|R 13 .12.31| FEFE | 1%+v |H 11 .1.4|H 14 .1.1 L
A|5[0| 0 1 |MERHEPESRE H 1230 4£|R 13 .12.31| FgZ | 1%+t |H 12 .14 |H 14 .1.1 itk
A[5]0|0; 1 |#RAEFEERERRE H 13 [30 4£|R 13 .12.31| BEZEE | 1%+t |H 13 .1.4|H 14 .1.1 it
A[5]0|0: 1 |HRAETEHEHERERE H 14 |30 4£|R 14 .12.31| FE#E | 1%+ |H 14 .1.4|H 15 .1.1 HE




A[5]0]0: 1 |#RAEFEERREE H 15|30 4£|R 15 .12.31| FEZE | 1%+t |H 15 .14 |H 16 .1.1 e
A[5]0|0: 1 |HRAEFEHERERE H 16|30 4£|R 16 .12.31| FE#E | 1%+t |H 16 .1.4|H 17 .1.1 K
A[5]0|0: 1 |#RAEFEERREE H 18 |30 4£|R 18 .12.31| FgZ | 1%+t |H 18 .1.4|H 19 .1.1 e
A[5]0|0: 1 |HRAEFEHERRRE H 1930 4£|R 19 .12.31| FE#E | 1%+t |H 19 .1.4|H 20 .1.1 K
A[5]0]0: 1 |#RAEFEERIREE H 20|30 4£|R 20 .12.31| F&EZE | 1%+t |H 20 .1.4|H 21 .1.1 e
A[5[0|0: 1 |MAEREREHRE H 21|30 4 |R 21 .12.31| FEZE | 1%+t |[H 21 .1.4|H 22 .1.1 ik
A[5]0]0: 1 |#RAETEEHERIREE H 22 (30 4£|R 22 .12.31| FE#E | 1%+%v |H 22 .1.4|H 23 .1.1 e
A|5[0| 0 1 |MAEREREHRE H 23 (30 4£|R 23 .12.31| FEFE | 1%+t |H 23 .1.4|H 24 .1.1 ik
A[5]0]0: 1 |#RAETEEHERIREE H 2430 4£|R 24 .12.31| FE#E | 1%%v |H 24 .1.4|H 25 .1.1 e
A[5[0|0; 1 |MAEREREHRE H 25 (30 4£|R 25 .12.31| BEZHE | 1%+vr |H 25 .1.4|H 26 .1.1 ik
A[5]0]0: 1 |#RAETEEHERIREE H 2630 4£|R 26 .12.31| FE#E | 1% |H 26 .1.6|H 27 .1.1 e
A[5]0|0: 1 [#RAEFEERESRRE H 27 [30 4£|R 27 .12.31| BEZE | 1%+t |H 27 .1.5|H 28 .1.1 ik
A[5]0|0: 1 |RAETEHEHEREIRRE H 29 [30 4£|R 29 .12.31| FE#E | 1%+t |H 29 .1.4|H 30 .1.1 e
A[5]0|0: 1 |#RAEFEHERESRRE H 30 (30 4£|R 30 .12.31| BEZE | 1¥xt |H 30 .1.4|H 31 .1.1 ik
A[5]0|0: 1 |RAETEHEHERERRE R 1 |30 4 |R 31 .12.31| Fg#ZE | 1%+ |H 31 .14|R 2 .1.1 e
A|5(0]|0 I |[f8AFEHEEfRMER R 2 |30 #|R 32.12.31| FE#E | 1%+t |R 2 .14|R 3 .11 e
A|5(0]|0 1 |[HAEFEHEIRME R 3 |30 4£|R 33 .12.31| FgZE | 1%+ |R 3 .14|R 4 .1.1 e
A|5(0]|0 1 |[fEAFEHEEAfRM R 4 |30 4£|R 34 .12.31| BE# | 1%+ |[R 4 .14(R 5 .1.1 it
Al5|0|0 1 |fEAEFEHEBIMREK R 5 |30 4£|R 35 .12.31| BE#E | 1%+ |[R 5 .14|R 6 .1.1 itk
A[5]|0]0: 3ILIRFZBEE H 16 |30 4£|R 16 .12.31| FEZ | 1%+t |H 16 .1.4|H 17 .1.1 s
A[5]|0|0: 3| JLIRFHZ B H 18 [30 4 |R 18 .12.31| FE#E | 1%+%v |H 18 .1.4|H 19 .1.1 e
Al5]0]|0: 3 |JEIEFHZHE H 1930 4£ (R 19 .12.31| BE# | 1%+t |H 19 .1.4|H 20 .1.1 HE
Al5[0|0] 3L P& H 20|30 4£|R 20 .12.31| FgZ | 1%+t |H 20 .1.4|H 21 .1.1 itk
Al5]0]|0 3| IETREMZ I E H 21030 4£[R 21 .12.31| FE#E | 1%+ |H 21 .1.4|H 22 .1.1 HE




A[5]|0|0: 3|JLIRFIZHERE H 22|30 4£|R 22 .12.31| FEZE | 1%+t |H 22 .14 |H 23 .1.1 iES
Al5[0|0}3|IESR L H 23130 4£|R 23 .12.31| FgEZ | 1%+t |H 23 .1.4|H 24 .1.1 ik
A[5]|0]0: 3 |JLIRF/ZBERE H 25|30 4£|R 25 .12.31| FEZE | 1%+t |H 25 .1.4|H 26 .1.1 e
Al5[0|0]3|JESR ML H 26|30 4£|R 26 .12.31| Bz | 1%+t |H 26 .1.6|H 27 .1.1 ik
A[5]|0|0: 3 |JLIRF/ZBERE H 29|30 4£|R 29 .12.31| F&ZE | 1%+t |H 29 .1.4|H 30 .1.1 e
A[5]|0|0: 3|ILFRFIFZHEE H 30 (30 4£|R 30 .12.31| BEZFE | 1%+t |H 30 .1.4|H 31 .1.1 ik
Al[5[0]0] 3|32 R 1 |30 4|R 31.12.31| BE# | 1%+t |H 31 .14|R 2 .1.1 e
A|5|0[0 3 [FLIRFFz PR R 2 |30 #|R 32.12.31| FE#E | 1%+ |R 2 .1.4|R 3 .11 HE
Al5]|0(0: 3 [LFEFIf2 0 R 3 |30 4£|R 33.12.31| BE# | 1%+v |[R 3 .14(|R 4 .1.1 e
A|5|0|0 3 [FLIRFFz PR R 4 |30 #|R 34 .12.31| FE#E | 1%+ |R 4 .14|R 5 .11 HE
Al5]|0(0 3 [LFEFIf2 R 5 |30 4£|R 35.12.31| BE# | 1%v |[R 5 .14|R 6 .1.1 e
Al5]0]|0 4 |JEIEFH-LEEE S 6130 4£|R 13 .12.31| BE# | 1%+t [S 61 .1.4|H 14 .1.1 HE
Al[5[0]0} 4|3 S 62 (30 A£|R 13 .12.31| BE#E | 1%+t |S 62 .14 |H 14 .1.1 R
Al5]0]0: 4 |JEIEFMH-LEEE H 1 |30 4 (R 13 .12.31| BE# | 1%+t |S 64 .1.4|H 14 .1.1 HE
A[5[0]0} 4L H 2 [30 4£|R 13 .12.31| & | 1%+ [H 2 .14([H 14 .1.1 R
Al5]0]|0 4 |JEIEFMH-LEEE H 3 |30 4 (R 13 .12.31| BE# | 1%+vt |H 3 .1.4|H 14 .1.1 HE
A[5[0]0] 4 L3RR H 4 [30 4£|R 13 .12.31| & | 1%+ [H 4 .14([H 14 .1.1 R
Al5]0]|0 4 |JBIEFMHLEEE H 5 |30 4£ (R 13 .12.31| BE#E | 1%+vt |H 5 .1.4|H 14 .1.1 HE
A[5]|0]0: 4 |JLIRFHALBETE H 6 [30 4£|R 13.12.31| FEZE | 1%+v¢ |H 6 .1.4|H 14 .1.1 e
Al5]0]|0 4 |JEIEFMH-LEEE H 7 |30 4R 13 .12.31| BE#E | 1%+vt |H 7 .1.4|H 14 .1.1 HE
A[5]|0|0: 4 |JEIRFHALBETE H 8 [30 4£|R 13.12.31| FEZE | 1%+ |H 8 .14|H 14 .1.1 e
Al5]0]|0: 4 |JEIEFMH-LEEE H 9 |30 4R 13 .12.31| BE# | 1%+vt |[H 9 .1.4|H 14 .1.1 HE
Al5[00] 4 LR TP E H 10|30 4£|R 13 .12.31| FgZ | 1%+t |H 10 .14 |H 14 .1.1 itk
Al5]0]|0 4 |JE3EFMH-LEEE H 11 (30 4£|R 13 .12.31| FE#E | 1%+ |H 11 .14 |H 14 .1.1 HE




Al5]0]|0 4 |JE3EFMH-LEEE H 12 [30 4£|R 13 .12.31| B | 1%+t |H 12 .1.4|H 14 .1.1 LS
Al5[0|0] 4 L5 iE H 13 [30 4£|R 13 .12.31| BEHE | 1%+vr |H 13 .1.4|H 14 .1.1 ik
Al5]0]|0 4 |JE3EFMHLEEE H 14 [30 4£|R 14 .12.31| B3 | 1%+vr |H 14 .1.4|H 15 .1.1 it
Al5[0|0] 4 L3R F-ULELiE H 15|30 4£|R 15 .12.31| FgZ | 1%+t |H 15 .1.4|H 16 .1.1 ik
Al5]0]|0 4 B3R FMHLEEE H 16 [30 4£|R 16 .12.31| B | 1%+vr |H 16 .1.4|H 17 .1.1 it
A[5]|0|0: 4 |JEFRFIFALEETE H 18 [30 4£|R 18 .12.31| FEHE | 1%+t |H 18 .1.4|H 19 .1.1 ik
A[5]|0|0: 4 |JLFRFALBERE H 19 [30 4£|R 19 .12.31| B3 | 1%+vr |H 19 .1.4|H 20 .1.1 e
A[5]|0|0 4 |JEFRFIFALEETE H 20 (30 4£|R 20 .12.31| BEZFE | 1%+t |H 20 .1.4|H 21 .1.1 ik
A[5]|0|0: 4 |JEFRFALBERE H 21 (30 4£|R 21 .12.31| B3 | 1%+vr |H 21 .1.4|H 22 .1.1 e
A[5]|0]0: 4 |JEFRFIFALEETE H 22 (30 4£|R 22 .12.31| BEFE | 1%+vr |H 22 .1.4|H 23 .1.1 ik
A[5]|0|0: 4 |JEFRF/ALBERE H 23 (30 4£|R 23 .12.31| B3 | 1%+vr |H 23 .1.4|H 24 .1.1 e
A[5]|0|0: 4 |JEIRFIFALEETE H 24 30 4£|R 24 .12.31| FEZFE | 1%+vr |H 24 .1.4|H 25 .1.1 ik
A|5]|0]|0 4 0FEFHLBEE H 25 (30 4£|(R 25 .12.31| BE#E | 1%+r [H 25 .1.4([H 26 .1.1 R
Al5]0]0: 4 |JEIEFMH-LEEE H 26|30 4£|R 26 .12.31| BE# | 1%+t |H 26 .1.6 |H 27 .1.1 HE
A|5]|0]|0 4 0FEFHOBEE H 27 (30 4£|R 27 .12.31| BE3E | 1%+ [H 27 .1.5(H 28 .1.1 R
Al5]0]|0 4 |JEIEFMH-LEEE H 29|30 4£ (R 29 .12.31| BE# | 1%+t |H 29 .1.4|H 30 .1.1 HE
A|5]|0]|0 40 EFHLBEE H 30 (30 4£|R 30 .12.31| BE3E | 1%+t [H 30 .1.4([H 31 .1.1 R
Al5]0]|0 4 |JBIEFMH-LEEE R 1|30 4|R 31.12.31] FEZE | 1%+t |H 31 .14|R 2 .1.1 HE
A|5[0]0: 4 |F0IES{4 e i R 2 [30 £ |R 32 .12.31| FE3HE | 1%+ |R 2 .14|R 3 .1.1 e
Al5]|0(0 4 [J0FEF LB R 3 |30 4£|R 33 .12.31| BE#FE | 1%+ |[R 3 .14|R 4 .1.1 itk
A|5[0]0: 4 |F0IE {4 LeE i R 4 [30 4£|R 34 .12.31| FE3HE | 1%+ |R 4 .14|R 5 .1.1 e
Al5]|0(0 4 [JUFEFF LB R 5 |30 4£|R 35.12.31| BE#FE | 1%+ |[R 5 .14|R 6 .1.1 ik
Al5|0| 11 |MpHE R 3|3 #[R 6 .12.31| B3 | 6%t |R 3 .14|R 4 .1.1 itk
Al5]0| 1 1|FpHfE R 4|3 4|R 7 .12.31] FE#E | 6x¥ |[R 4 .1.4|R 5 .1.1 HE




A|5|0| 171 PP R 5|3 #£|R 8 .12.31| FE#E | 6%+t |R 5 .14|R 6 .1.1 it
Al5(2]0 2 [FEIUWHRAE T H 25 (30 4£|R 25 .12.31| FE3E | 1%%v |H 25 .1.4|H 26 .1.1 s
Al5(2]0 2 [GESUH-ER A7 H 26 [30 4£|R 26 .12.31| B | 1%+vr |H 26 .1.6|H 27 .1.1 it
A|5(2]0 2 [FEMWARAT T R 2 |30 #£|R 32 .12.31| BFEZE | 1%+t |R 14|R 3 .1.1 K
A|5(2]0 2 [GEIU AR A7 R 3 |30 4 |R 33.12.31| FE#E | 1%+t |R 14|R 4 .1.1 it
A5 2|0 2 [FEMU LR AT R 4 |30 4£|R 34 .12.31| FEFE | 1%+t |R d14[R 5 1.1 HE
A|5(2]0 2 [FEMUH PR A7 R 30 4£ R 35 .12.31| BE3E | 1%+t |R 14|R 6 .1.1 e
A|5(2]0 3 |GERU S PR H 2030 4£|R 20 .12.31| BE# | 1%+t |H 20 .1.4|H 21 .1.1 HE
A|5[2]0 3 |FEMWE B H 21 (30 4£|R 21 .12.31| B3 | 1%+vr |H 21 .1.4|H 22 .1.1 e
A|5(2]0 3 |GEAU S PR H 2530 4£ (R 25 .12.31| BE# | 1%+t |H 25 .1.4|H 26 .1.1 HE
A|5(2]0 3 |FEMWE B H 26 [30 4£|R 26 .12.31| B | 1%+vr |H 26 .1.6|H 27 .1.1 e
A[5]2]0 4|FEIL I SR T H 2030 4£|R 20 .12.31| BE# | 1%+t |H 20 .1.4|H 21 .1.1 HE
Al5]2]0 4|FEILY 55 SR i H 24 (30 4£|R 24 .12.31| FE3HE | 1%+vr |H 24 .1.4|H 25 .1.1 e
Al5]2]0 4 |FEIL 155 SR H 2530 4£|R 25 .12.31| BE# | 1%+t |H 25 .1.4|H 26 .1.1 HE
Al5]2]0 4 |FEILY 55 SR i H 26 [30 4£|R 26 .12.31| B | 1%+vr |H 26 .1.6|H 27 .1.1 e
Al5]2]0 4 |FEIL 15 SR H 27|30 4£|R 27 .12.31| BE# | 1%+t |H 27 .1.5|H 28 .1.1 HE
Al5]2]0 4 |FEILY 55 SR i H 28 [30 4£|R 28 .12.31| FEH | 1%+vr |H 28 .1.4|H 29 .1.1 e
Al5[2|0} 4 |FEMUIESE SR & H 29 [30 4£|R 29 .12.31| BEZE | 1%+t |H 29 .1.4|H 30 .1.1 it
Al5( 2|0 4 |GERL 5 S R H 30 [30 4£|R 30 .12.31| FEH | 1%+ |H 30 .1.4|H 31 .1.1 e
Al5[2|0} 4 |FEMUIESE SR & R 1 [30 4|R 31 .12.31| FEZE | 1%+t |H 31 .14|R 2 .1.1 it
Al5]2]0] 4 [FEMU LS S & R 2 [30 4£|R 32 .12.31| FE3HE | 1%+ |R 2 .14|R 3 .1.1 e
A|5( 2|0 4 |FEMWIESE R & R 3 [30 4£|R 33 .12.31| FEZE | 1%+ |R 3 .14|R 4 .1.1 it
Al5|2]0] 4 [FEMUHSE S TE R 4 [30 4£|R 34 .12.31| FE3HE | 1%+ |R 4 .14|R 5 .1.1 e
A|5(2]0 4 |FEMIEEE R & R 5 |30 4£|R 35.12.31| BEZE | 1%+t |[R 5 .14|R 6 .1.1 s




e E Ay - 4 frier | (R0 | PRIEI T LB | I RO | RO
Alsl210] 5 [Frmem i e H 2030 4£|R 20 .12.31| BEZE | 1%+~ |H 20 .1.4|H 21 .1.1 iAo
Alsl 2o 5 |zEMUA R L H 21130 4£|R 21 .12.31| FEZE 1%+t |H 21 .14 ([H 22 .1.1 A
Alsl 2100 5 [Frmem i e H 2530 4£|R 25 .12.31| BEZE | 1%+~ |H 25 .1.4|H 26 .1.1 iAo
Als| 2o 5 |ZEMUAf: L H 2630 4£|R 26 .12.31| FEZE 1%+t |H 26 .1.6 |H 27 .1.1 A
Alsl 21 0] 5 [Frmem i m e H 27130 4£|R 27 .12.31| BEZE | 1%+~ |H 27 .1.5|H 28 .1.1 iAo
Als| 2o 5 |zEHAf: H 3030 4£|R 30 .12.31| FEZE 1%xt |H 30 .1.4(H 31 .1.1 K
NEBRRNEE R 2 |30 4£|R 32 .12.31| BE=E | 1%+ |R 2 .1.4|R 1.1 iAo
Alsl2l0 5 |zEme et e R 3 |30 4£|R 33.12.31| Bz | 1%+ |R 3 .1.4|R 1.1 IS
Alsl2l0 5 [zEmme et e R 4 |30 4£|R 34 .12.31| Bz | 1%+ |R 4 .1.4|R 1.1 1S
Alsl2l00 5 [zEmeps e R 5 |30 4£|R 35.12.31| Bz | 1%+ |R 5 .1.4|R 1.1 1S
Alsl2lo 7 |[Ha R EERR L B H 2610 4£|R 6 .12.31| FEIE 6%yt |H 26 .1.6 (H 27 .1.1 A&
Alsl 2l ol 7 e sEmme 2w H 27|10 £|R 7 .12.31| Fg#E | exxt [H 27 .1.5[H 28 .1.1 A&
Alsl 2l ol 7 s sEmme 2w H 28|10 4£|R 8 .12.31| Fg#E | 6%+t [H 28 .1.4[H 29 .1.1 A&
Alsl 2l ol 7 [ammsEmme 2w H 29|10 4£|R 9 .12.31| Fg#E | 6%+t [H 29 .1.4(H 30 .1.1 A&
Alsl 2l ol 7 [hammsEmme 2 pkm H 30|10 4£|R 10 .12.31| FEZE | 6%+t |H 30 .1.1|H 31 .1.1 iAo
A|5]2]0 7 [HARIRFEIE S BRI R_1 |10 %R 11 .12.31] BESE | 6%y [H 31 .14[R 2 .11 | #&
Al5| 2|00 7 |[HE R EERS R R_2 |10 R 12 .12.31] BESE | 6%ve |R 2 .14|R 3 .11 | #K
Al5| 2] 0] 7 |[HAERIR RS BRI R 3 |10 R 13 .12.31] BEFE | 6%ve |R 3 .14|R 4 .11 | #K
Al5| 2] 0] 7 |[HAERIR RS BRI R4 |10 R 14 .12.31] BEFE | 6%ve |R 4 .14|R 5 .11 | #K
Al5| 2] 0] 7 | RIR RS BRI R 5|10 #|R 15 .12.31] BEFE | 6%+t |R 5 .14|R 6 .11 | #K
NEBERNEE S H 26|10 4£|R 6 .12.31| FE#E | 6%~ |H 26 .1.6 |H 27 .1.1 N
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